2000 = =0l & 2 BHa A

S BPBBY
Bu: SRS HAPS(BBLS/HIIE)
£r2l: BIDIZH 2l A4 & X Abe)

A

SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

S M 42,644,973 34,465,772 8,179,201
= 22,282,131
s 8,453,000
& 11,909,842

HIISHE=MARS(BZES/HIIS) 20,768,960 16,342,960 4,426,000
= 18,926,000
= 1,842,960

HIISXelAl &4 XA 12,531,000 14,888,000 22,357,000
= 11,276,000
= 1,255,000

MDD MO AIE L XA 3,020,000 1,525,000 1,495,000
= 3,020,000

403 XXIEMSAH20IH 3,020,000 1,525,000 1,495,000
= 3,020,000

01 AXISHX=2E X 3,020,000 1,525,000 1,495,000
BESBIEPET TEPNPEFEpIPNR- 3,020,000
= 3,020,000

HIRI MO AL EHIALS 1,050,000 4,662,000 A 3,612,000
= 1,050,000

403 XXIEHSA=01H 1,050,000 4,662,000 A 3,612,000
= 1,050,000

01 XXIEHX2EX 1,050,000 4,662,000 23,612,000
IS4 042 Al & R B AbS 1,050,000
= 1,050,000

sHEHII S SE XA EE XA 2,550,000 750,000 1,800,000
= 2,550,000

403 XXIEHSA201H 2,550,000 750,000 1,800,000
= 2,550,000

01 XXIESHIH2EX 2,550,000 750,000 1,800,000
OsOHEHIISSS XA ZEXNALS 2,550,000
= 2,550,000

MY DI A2ZAE A XA 4,656,000 6,295,000 21,639,000
= 4,656,000

403 TXIEMSA201H 4,656,000 6,295,000 A 1,639,000




S BPBBY
B HIISXE SR
EH9l: HDIS X2 Al S X

2= (B2ES/HIIS2)
N

AE (ol & 2
SAN-ZH-SA(FA) - NFAY - BES O AF K %Egﬁ; HwsZ
403 RXISHSKH20IH = 4,656,000
01 RS =EE 4,656,000 6,295,000 1,639,000
M| ANl & & X ALY 4,656,000
= 4,656,000
SOEHIISEEH2IAL L AL 400,000 300,000 100,000
403 X XISHSK20H 400,000 300,000 100,000
01 NXSHASSE 400,000 300,000 100,000
OSHEHIISEEHEIA LS X AL 400,000
M| A ZEAI S & X AP 600,000 1,150,000 550,000
403 RXISHSKH=0IH 600,000 1,150,000 550,000
01 MXSHA=SE 600,000 1,150,000 550,000
M1 A2EAI S & X AP 600,000
MBI 2l Al & & X AL R | 5,000 6,000 A 1,000
202 01l 5,000 6,000 A 1,000
IBEREE] 5,000 6,000 A1,000
CIM D11 21 Al & X AP 2= 2 04 ] 5,000
HOISTH2IAL XA 250,000 0 250,000
403 RXISHSKHZO0IH 250,000 0 250,000
01 MXSHASSE 250,000 0 250,000
OOt A HII ST A2 A& & X AL 250,000
HIISWEELSAS Hel 3,677,960 1,454,960 2,223,000
=2 3,090,000
= 567,960
DEWERIIALEE 1,644,000 771,000 873,000
= 1,644,000
403 THXISHSKHRO0|H 1,644,000 771,000 873,000
= 1,644,000
01 MXSHA=EE 1,644,000 771,000 873,000
OZZWERIIGALES 1,644,000
= 1,644,000
Hs%8)8+A2 422N 113,000 102,000 11,000
307 21201 113,000 102,000 11,000
02 SIAAMBE 113,000 102,000 11,000
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S BPBBY
=L TBIESEES
Sl HIISHESLSA

X2l (Er9): &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

SASFMYIIHElAIEE X ALY 1,410,000 0 1,410,000
= 1,410,000

403 XXISHHSA20|H 1,410,000 0 1,410,000
= 1,410,000

01 XXESMA2SEEX 1,410,000 0 1,410,000
OSASFHII=3SH A &L XA 1,410,000
= 1,410,000

SASRHIISEESHEIMEISFF L 36,000 0 36,000
= 36,000

403 XXM SK201H 36,000 0 36,000
= 36,000

01 XXESHA2EX 36,000 0 36,000
OSASSHIISHSTHSINEXINSF L 36,000
= 36,000

HOI2 X SHALS 4,560,000 0 4,560,000
= 4,560,000

NS HSESELdHAEEXAIS 1,200,000 0 1,200,000
= 1,200,000

403 X XSHHSA20|H 1,200,000 0 1,200,000
2 1,200,000

01 XAXESHMAESEEX 1,200,000 0 1,200,000
ONSEHASHENEELHAIE E X ALY 1,200,000
= 1,200,000

SASHIOIQIIASIAIE & X AFS 450,000 0 450,000
= 450,000

403 XXM SKH201H 450,000 0 450,000
= 450,000

01 XXESHA=2EX 450,000 0 450,000
OOSAI200| ItA A& & X AFY 450,000
= 450,000

DHEIDIA KR SHAIE A X AFS 360,000 0 360,000
= 360,000

403 XXISHHSA20|H 360,000 0 360,000
= 360,000




A SHIEHL
M HOISNF=SHARS(HZES/HIIS)

Sl HIOISHJASALSY (&2 &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
01 XXSHA=2EX 360,000 0 360,000
CIOHE DA KR SHAI & & XA 360,000
= 360,000
IMAEEIIZ2EH 2 AIE 2,550,000 0 2,550,000
= 2,550,000
403 XXISHHSA20|H 2,550,000 0 2,550,000
= 2,550,000
01 XXESMA2SEEX 2,550,000 0 2,550,000
oA AEHIIZ2E Ml AlA 2,550,000
= 2,550,000
UNHASEAXTL (#EBES/UDI) 3,577,324 1,682,705 1,894,619
= 2,317,131
& 1,260, 193
S I N SoHSALS 2,523,500 1,351,625 1,171,875
= 1,681,000
= 842,500
HMHAIIATEXNES 2,376,000 1,349,625 1,026,375
= 1,584,000
== 792,000
403 XXM SA201H 2,376,000 1,276,875 1,099, 125
=2 1,584,000
= 792,000
01 XXSHHA=2EX 2,376,000 1,276,875 1,099, 125
OHANAXSXHES 2,376,000
= 1,584,000
== 792,000
NS X H 26l st=& A 2,000 2,000 0
202 O4Hl 2,000 2,000 0
01 =ZWoib] 2,000 2,000 0
OXs XM 30l 3= & ¢ HI 2,000
HAINAXNSXHAZH XA 145,500 0 145,500
= 97,000
= 48,500
308 AKX SHHMSOIHA 145,500 0 145,500




SN BRZHD
M S DANSHAEL(BYRE/0II)
Do 5t A2t

Sl XS M Bof 8t (9 &e
SH-EFHHA(FA) - NIRAE - BES O AFH glgafg Hws2
308 XKXIEHSOIA = 97,000
= 48,500
01 XXSHBASEZ 145,500 0 145,500
OEAIAGS A ZH X 2 145,500
= 97,000
= 48,500
saQusme 683,824 331,080 352,744
= 456, 131
[ 207,693
WISzgENeYy 114,000 231,000 A117,000
= 76,000
= 38,000
403 XHXICHH S K20l X 114,000 231,000 117,000
= 76,000
= 38,000
01 XXCSHHESE 114,000 231,000 A 117,000
O QY =X DA 114,000
= 76,000
= 38,000
HEs22RLEL2 D 20,000 20,000 0
308 XXIEHSOIH 20,000 20,000 0
02 Hauea 20,000 20,000 0
EPIEE-T =P 20,000
HELANE - M 56,660 51,080 5,580
201 gty 25,200 21,120 4,080
01 At=atelt| 10,800 12,000 A 1,200
Oxa 10,800
OB ELARC MR 2T
900,000 * 10§ * 122 10,800
02 ZZ2YH| 14,400 9,120 5,280
DXt g - det 14,400
ORI 1,000,0002 *1CH* 122 12,000
oxngssz 200,0002! * 10§+ 122 2,400
202 ol 15,000 16,000 A 1,000
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SA BRI
M fDHNSEATL(BEES/UDI)
Chel: s a2 (e &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
403 XXIEHSAH201H = 200,000
& 40,000
01 XXIESHIH2EEX 240,000 0 240,000
OMsAHUEAX (KSUIIHEA) 240,000
= 200,000
< 40,000
SSIAZLAAARSF 225,164 0 225,164
= 180, 131
L= 45,033
308 NXIEHHSOIE 175,164 0 175,164
= 140, 131
& 35,033
01 XXSHHBILAEXES 175,164 0 175,164
OSAJSMSSE XA (SSAZAH AT
=) 175,164
= 140, 131
= 35,033
403 TXIEMSA201H 50,000 0 50,000
= 40,000
& 10,000
01 XXIESHIH2EEX 50,000 0 50,000
OSAJISMSE XX (S22 A A+
=) 50,000
= 40,000
= 10,000
JIZHEEAUE 370,000 0 370,000
= 180,000
= 190,000
EEAZOIENAIEAS 100,000 100,000
308 NXIHHSOIH 100,000 100,000
01 XXEHHILEXS 100,000 100,000
O SZeEATOIE A ALY 100,000
JI=HstHESSE UM~ 150,000 150,000
= 100,000
L= 50,000




82T
SN ATL(BEES/UII)
EREEEE < &)
SN I SRI(S) - NRAY - B o e B RS2
207 SO 150,000 150,000
=2 100,000
= 50,000
01 &9l 150,000 150,000
DI=Hstt=E 150,000
= 100,000
= 50,000
JSHSHS ALY 120,000 120,000
= 80,000
= 40,000
403 TXEMSAH201H 120,000 120,000
=2 80,000
= 40,000
01 XXIESHI2EX 120,000 120,000
DIsHsatsE 120,000
= 80,000
< 40,000
HEHAEHN - 223 13,739,000 3,725,177
= 824,000
s 8,453,000
L= 4,462,000
HUEH S XY 12,202,000 4,154,100
= 800,000
s 8,453,000
= 2,949,000
ZSSENAMES 1,170,000 585,000
s 900,000
L= 270,000
403 XHXIEHS 1,170,000 585,000
s 900,000
= 270,000
01 XXIESHIH2EX 1,170,000 585,000
OEstsgd 1,170,000
P 900,000
= 270,000




SN BAZHDY
HH: GOSARH - BYSH(BPRE/XO)
J

;KO MEZREY (S5 & 2)
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
MESHMEDATH 585,000 390,000 195,000

= 450,000
= 135,000
403 TXISHSK=0IF 585,000 390,000 195,000
= 450,000
= 135,000
01 XXICSHKZEE 585,000 390,000 195,000
DAFSLMHIATY 585,000
2 450,000
= 135,000
RIS EEIEESE 270,000 630,000 360,000
= 180,000
= 90,000
403 THXISHSKH=0IE 270,000 630,000 360,000
= 180,000
= 90,000
01 XA HAERE 270,000 630,000 360,000
BEEREETEESE 270,000
2 180,000
= 90,000
RO ME B S = 2| 8,000 8,000 0
202 Ofl 2,000 3,000 A1,000
01 =Uotd 2,000 3,000 A1,000
ORI MEH BT S =04 2,000
203 Y= 6,000 5,000 1,000
03 AMZZA@EHY| 6,000 5,000 1,000
O ME BRI XS EX 6,000
AFBACAWMATH 260,000 0 260,000
= 200,000
= 60,000
403 XXISHSKH=0IH 260,000 0 260,000
= 200,000
= 60,000
01 XXCSHZEE 260,000 0 260,000

_10_




SN BAZHDY
HH: GOSARH - BYSH(BPRE/XO)
J

oo N MEH DT Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 ggi HRS2

OFFsHEE Xy 260,000
g 200,000
= 60,000

LI M SATS 247,000 0 247,000
g 190,000
& 57,000

403 XXIESHMSA=201H 247,000 0 247,000
rag 190,000
= 57,000

01 XAXESHA2EE 247,000 0 247,000
OB SHMEISATY 247,000
Ray 190,000
o= 57,000

FOIX AL MENSAI TS 195,000 0 195,000
i 150,000
= 45,000

403 XXISHHSA20|H 195,000 0 195,000
g 150,000
& 45,000

01 XXESHA2EX 195,000 0 195,000
OF0I KA MEIS X EH 195,000
iy 150,000
o= 45,000

AR SSL2UMEE S Z XY 1,040,000 0 1,040,000
g 800,000
== 240,000

403 XXISHHSA20|H 1,040,000 0 1,040,000
g 800,000
= 240,000

01 XXESHA=2EX 1,040,000 0 1,040,000
LSS L MEEYSZEYS 1,040,000
rag 800,000
o= 240,000

SOIMEEY 2 1,040,000 0 1,040,000
= 800,000

_11_




S SHIEHL
M NHAESZSE - 2e|ASH(BETES/AH)

Crol: KOl MBI ZRE A oL
A BB O(B) - NEAY - BAS Of o e Hl R =2
SOLMEHEE 2R S = 240,000

403 XXM EXZ20IH 1,040,000 0 1,040,000
= 800,000
= 240,000

01 XXX A2EE 1,040,000 0 1,040,000
O=JtMEEIE 22 A 1,040,000
= 800,000
= 240,000

OtsHEZREY 390,000 0 390,000
s 300,000
= 90,000

403 XXM SX20IH 390,000 0 390,000
s 300,000
= 90,000

01 XXSHHA2LEE 390,000 0 390,000
JotsHEs/Td 390,000
sy 300,000
< 90,000

ZEARZASMHBAXH 325,000 0 325,000
s 250,000
& 75,000

403 KX SKH201H 325,000 0 325,000
s 250,000
= 75,000

01 XXSHHA2EX 325,000 0 325,000
(23R SMHSAXTHE 325,000
s 250,000
& 75,000

SUIERIRNAS AL 672,000 0 672,000
s 448,000
& 224,000

403 KX SKAH201H 672,000 0 672,000
s 448,000
= 224,000

01 XXSHHA2LEX 672,000 0 672,000




S SHIEHL
M NHAESZSE - 2e|ASH(BETES/AH)

oo N MEH DT Rk
SN HB G (BH) - MRAY - BES 0l & B Hlm= 2
Oil &k o8

OSdSNARATASH AL 672,000
s 448,000
= 224,000

Ol MBEEH 2SS 300,000 0 300,000
s 200,000
& 100,000

403 AXIEHXHSKH201H 300,000 0 300,000
s 200,000
= 100,000

01 XXSHHA2EX 300,000 0 300,000
COHAMHEHA RS MRS 300,000
s 200,000
& 100,000

TOI2EXNAAMEH SR A 650,000 0 650,000
s 500,000
& 150,000

403 XXIEHMSAH201& 650,000 0 650,000
s 500,000
= 150,000

01 XXSHHIA2EX 650,000 0 650,000
OP0ISANN S M DAT A 650,000
s 500,000
& 150,000

AFUSLMEMEMEI TS 650,000 0 650,000
s 500,000
& 150,000

403 XXISMS 201 650,000 0 650,000
s 500,000
& 150,000

01 XXIESHX2EX 650,000 0 650,000
OJasUsHMEMEHEI RS 650,000
s 500,000
& 150,000

OtsHAMH SN 1,085,000 0 1,085,000
as 835,000




S SHIEHL
M NHAESZSE - 2e|ASH(BETES/AH)

CHol: XHoIMERREY (eH9l: 22
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OtSHAMHSANSRTY = 250,000

403 XXM EXZ20IH 1,085,000 0 1,085,000
s 835,000
= 250,000

01 XXX A2EE 1,085,000 0 1,085,000
OotsS A M SN 1,085,000
s 835,000
= 250,000

TOMEHSIZLANASE SR 1,950,000 0 1,950,000
s 1,500,000
= 450,000

403 XXM SX20IH 1,950,000 0 1,950,000
= 1,500,000
& 450,000

01 XXSHHA2LEE 1,950,000 0 1,950,000
OF 0 MEISAETHLNHEE=A 1,950,000
s 1,500,000
= 450,000

SFAUWAQIMSIME SH RS 1,235,000 0 1,235,000
s 950,000
& 285,000

403 KX SKH201H 1,235,000 0 1,235,000
s 950,000
= 285,000

01 XXSHHA2EX 1,235,000 0 1,235,000
2248 A OFY BHRI B EH X X & 1,235,000
s 950,000
< 285,000

OHSItSClMEINEDNIS TS 130,000 0 130,000
s 100,000
& 30,000

403 KX SKAH201H 130,000 0 130,000
s 100,000
= 30,000

01 XXSHHA2LEX 130,000 0 130,000




S SHIEHL
M NHAESZSE - 2e|ASH(BETES/AH)

CHel: NI MBI BRIEY (EH2l:®el)
- _ _ ME
SA-ZH-EA(SH) - MEAD - BES Off AF oK 0l At o HDZ2
BREPEEEETEE X 130,000
s 100,000
= 30,000
SENA A ALSSALY 795,000 772,100 22,900
ST EH IR EFHIAE 200,000 600,000 A400,000
403 XXIEHMS 201 200,000 600,000 400,000
01 XXIEHX2EX 200,000 600,000 A400,000
OSM4ESHIAZHIAY 200,000
SEI2el3y| 3,000 4,000 A 1,000
202 OdHl 3,000 4,000 A 1,000
01 AL 3,000 4,000 A 1,000
OSYZ A2 3,000
SAMM ST HIAY 100,000 0 100,000
403 TXIEMSA201H 100,000 0 100,000
01 XXSHHIH2EX 100,000 0 100,000
O2Z2MHEe S EHIAE 100,000
MM RM3F=XE =4 200,000 0 200,000
403 NXEMSAH201H 200,000 0 200,000
01 XXIESHX2EX 200,000 0 200,000
D2 B MW RST XA E A ALY 200,000
HEAUCEHISAEHIAMG 200,000 0 200,000
403 XXIEHSA201H 200,000 0 200,000
01 XXIESHI=2EX 200,000 0 200,000
OHSMCYZATHIAY 200,000
CYZASYHINE 90,000 0 90,000
308 XNXIHHMSOIH 90,000 0 90,000
01 AUXSHBAEXZ 90,000 0 90,000
OEES3H2IHIAA 90,000
CEIEE 242 2,000 0 2,000
201 LEH23H] 2,000 0 2,000
01 At= 22| 2,000 0 2,000
DA 22l 2,000
Ozgzefgsegsry 2,000

_15_
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